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Haiinure ommobky!
sin(or + )= sina cos § —cosasin 8
cos((x —,B)z cosa sin 3 +sin ¢ cos 3

cos(oc +ﬁ)=cosa cos B +sina sin
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1) 2 sin® o cos o 2) 2 sin a cos o 3)2cos3a 4) 2 cos a

2.¢0s 2 0. — 2 sin” o

)cos?a—2sin“a  2)1 3) 1+ 2sin*a 4) 1+ sin o

sin 2¢ - (1 - ctgza)

1+ cos2a
| o |
l)ctga 2)tga 3) —~sin 2a 4) T A
4. €08 *15" —sin* 15"
1 5 1 V3
) 5 R A Ok e e

4
. sin® o —cos’ a

1)—cos2a 2)cos2a 3)sin2a 4)-—sin2a
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2 . 2 )
] —cos2a =cos” o + sin a—(cos ol — SIn a):
2 s 2 - 2 o,
=CcosS"  a+smM a—cos a+smm - ag=2sIn" o

Omeem : 2

el 2 2 28D
l-cos2a sin” a +cos oc—(cos a —sin oc)_

sin” « sin” a

ot ) 2 2 S w2
_sin® o +cos® o —cos” a +sin“a  2sin a_,
sin® a sin® a

Omeem : 2
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1)1+ cos 20 =sin” o +c0s” ¢ + o™ o —

—sin‘a =2cos’

Omeem : 3
2 Lol 2 ¥ 7
2)c0s2o¢+1_cos o —SIn” o +¢os” o +sm- o
Sin 20, 2sIm ¢ cos o
COS !
= —— = clgo
SIn ¢!

Omeem : 1
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- ) 4 :
1(sina —cosa)’ =sin’ a —2sin o cos o +

+cos’ o =1-sin 2a

Omeem : 4
2 WD
2)tg2ﬁ-(1+0052ﬁ)zsm2ﬁ(sin2ﬁ+coszﬁ+sinzﬁ—coszﬁ):
COS
S0,
sin - 3 .
=———-2c0s” f =2sin” f3
COS
Omeem : 1

3)cos’ a —cos2a =cos” o —
—(coszoc —sinza):sinza

Omeem - 3
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2 yposenv 2 eapuanm

In 2 2 s1 ;
SIn2¢p _ 2sin@Qcose . 24
2CoOos@ 2 Ccos

Omeem : 3

cos2f +2sin” B=cos’ B —sin’ B +2sin” f=cos” B +sin’ f=1

Omeem ;2
ctg’B-(1—cos2p)= C?Sj p (sin2 B +cos’ B —cos® B +sin’ ﬁ):
sin” 3
_cos” f3

.2sin” B =2cos’ 3

sin” 3

Omeem : 3
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TlereSrBer  uaCRS L vl S o
\1+sinB 1—sin B

2 cos [ .
= -2 ===

(1+sin B)1 —sin B) S .

zigszsg-ZsinﬁcosB:
= 4 sin S

Omeem . 3
2)4cos2a -sina -cosa = 2cos2a - (2sina -cosa) =
= 2cos2¢ -2s1n 2a = sin 4o

Omeem : 2
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2)(sin v — COS 7/)2 + s1in 2y
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cos2/[3
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